16

7

' equation

Select the following questions wrth proper
- alternative and answer it :

Area bounded by curve

y=tannx; x [-l, l]

4 4 ........

[March - 2020] |.
log2 log2 log2
A) 2n (B) 5] (C) log2 (D) —== og

The area of the region bounded by the curve |

=[x] and thelines x=1and x= 1.9 s ..._.. Sq.

umts Where [-] denotes the greatest integer |’

function.
3 7 4
w3 B o 8 e
2 2
Area bounded by the ellipse T + i’—s =4is.
[March - 2020]
A) 64n (B) 32 (C)8r (D) 6—’;

The order and degree of the differential
equation ()''")3 + (¥ + )% + y =7 are

respectively. [March - 2020]
(A) 4and 1 (B) 1 and 4
(C) 3 and 3 (D) 2 and 4

If y-= y(x) is the solution of the differential

%+(tw)y=sm,05xs g,wuh

¥(0) = 0, then y(%) equal to :

(B) ( J_)loge

(C) log,2 (D) —logez
Integrating factor of the d1fferent1a1 equation
ydx - (x + 2y2)dy =0 is [March - 2020]

. 1
) -=
W

1
(A) 7 log,2

@y (@ -y @;

Measure of the angle between the vector

a—i—]+k and b-z+1+kls
[March - 2020]

8)

‘‘‘‘

= A A A
, . .a=3i+5j-2k and b=

S G307

10)

H/ _1& . a1
(4) sin™ = B L e
(C) cos'I% (i)) sin'lé

=), A A A = A
If a=i+2j+kand b=i- 2j 3k then
- o5 5 - !
(a+b)-(a-D>b) = ......... [March - 2020]
W-2 @®-8 . 8 . M2

Find the area of a parallelogram whose °

adjacent sides are given by the vectors
=) A A A
2i+ j+3k.

[March 2020]

A) 54507 (B) J38
(D) 25' :

Let |x|=|y|=|x+ y|=1 and if measure

- -
- of the angle between x and y is o, then

2L @y

SN = e [March - 2020]
1 3 3P =R
G 2 (B) BE (9] = D)1

11)

12)

'2(a7b+b-c+c-a).

13)

14)

283

A \ /} A A A A A A A A A A A
A__zﬁ-(k)g._])+]-(ixk)+k-(ixi)+i-(ixj)+j-(ixk)

[March - 2020]
(D) -3

. wevecsscas -

(A) <! B) 1. Q) 3

- e e R T T
Forthreevectors a,b andc,a+b+c-0

|a|= »|b|=4,|6|=5,then evaluate

T T T S N S

~ [March - 2020]

1

(A) 100 - (B) 50 (C) 25 (D) -50
" 2x-5 _y+20z ! XYy 7z
— d—=—=—-
If the lines P 258 SHlISeS A 5o T3

are perpendlcular to each other, then value of
kis coovinns } ¥ ' - [March - 2020]

(A) -7 B 14 Q7 (D) 26
The angle between the lines r =(4,-3,2 +
k2, 1, 2), ke R and r -(2 0, 5) + k(6, 3, 2),



m Std.- 12 : Maths - 'Kumyp
S0 22)foN—>Nf((m,n))-m+ntme
A) sm’l4—£/i_§ (B) _COS—I“%/—I‘S’ function fis ...... '
N3 : Sy 19 (A) one-one and onto.
© COS'I%Q— (D) sin "o+ (B) one-one and not onto. :
15) The eqﬁaﬁon of the line L passing through (C) not one-one but onto. =~

16)

17)

18)

19)

20)

21)

. come from BagA is % then n is equal to

(©) =

- 3,3), (1, 5). Let Z = px + qy where p, q > 0. The

-and bag B contains 3 black, 2 red and n white
- balls. One bag is chosen at random and 2 balls

A(-2, 2, 3) and perpendicular to AB is

where B = (13, -3, 13).
X=2_y+2 z+3
) 2o R )
X2 ayse2i Z =3
858 Ui
zZ=3
10

X+2 y—2=
15 -5
X—-2 y+2' z+3
15 = -5 10
The objective function of a linear programming
problem is , [March - 2020]
(A) a function to be optimized
(B) a quadratic equation
(C) a constant (D) an inequality

The vertices of the feasible region determined
by some linear constraints are (0, 2), (1, 1),

(D)

condition on p and g so that the maximum of
Z occurs at both the points (3, 3) and (1, 5)

IS eccieee [March - 2020]
A p=g B) p=29(C)g=2p D)p=3q
1 -a -b

a 1 —c =....

b ¢ '1

B) -(1+a?+b%+c?)
(D) a? + b + 2 -1

(A) 1+a?+b?+c?
(C)1-a%2-p2-¢2

If P(E) = 0.8, P(F) = 0.5 and P(E/F) = 0.4 then
PIE/R)i= .. [March - 2020]
(A) 080 - (B) 032 (C) 0.64 (D) 0.98

The fea51ble region of the inequality x + y < 1
andx-y <1 lies in ....... quadrants,

(A) Only I and II (B) Only I and III
(C) Only Il and Il (D) All the these

Bag A contains 2 white, 1 black and 3 red balls

drawn from it at random are found to be 1 red
and l black. If the probablhty that both balls

(A) 13 (B) 6 € 4 (D) 3

23)

24)

25)

26)

27)

28)

29)

30)

31)

(D) neither one-one nor onto. ., ,

If S is defined on R by (x,y)e R@xyzo Then
S is ... b i
(A) an equivalence relatlon
(B) reflexive only VAR e =
(C) symmetric only (D) transitive only
Let A = {1, 2, 3}. Then number of relationg
containing (1, 2) and (1, 3) which are reflexiye
and symmetric but not transmve is .
A) 1 (B) 2 (C) 3 (D) 4
flx) = sin"lx + tan"lx + seclx then range of
AR 1o 14l
T 3m T 3n
@ (Z’ T) ®) [4 4 ]
NE© {4 3:} (D) None of these
The value of tan [cos‘l(cossoTn)] g e
1
A) - C)—= D)-1
A) -v3 (B) 3 ( e (‘ )
The value of cot[%—Zcot"1 3] is ......
B3 & LaB)X7E ()9 (D)%
cot{ 20390 (cosec‘l S + tan™! —2-)} g s,
2t | 3 3
[March - 2020]
17 19 17 - 19
BRI o ey e e
For 3 x 4 matrlx, elements are given by
5 5 i
@;j = |-3i + 4| then Z(aii) el b
i=1

[March - 2020]
(A) 25 (B) 43 (C) 33 (D) 63
Ais 3 x 3 matrix and det(A) = 7. If B = adj A
then det(AB) = .......... [March - 2020]

3 1
If A= [_1 2] andA2—5A K then k = .o

[March 2020]

(B) 7 € -7
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